[image: ] 
[bookmark: _GoBack][image: ] 
image1.jpeg
Name: Date:

Cloud Cargo

In the spring, April showers bring May flowers. April showers are one type of precipitation.
Precipitation is any kind of water that forms in the earth’s atmosphere and then drops
onto its surface. Rain and drizzle are the only liquid types. The solid types are snow, sleet,
freezing rain, and hail. When cloud particles become too heavy to remain hanging in the
clouds, precipitation happens. All of these happenings are part of the water cycle.

Rain is the kind of precipitation that happens the most in our atmosphere. Raindrops are
water droplets that are 0.5 mm or more. If the droplets are smaller than that, they are
called drizzle. Raindrops form when small cloud particles crash and stick together, making
bigger drops. Once the drops are big enough, gravity draws them down to the ground. Rain
might not hit the ground if the winds are blowing up faster than the rain is falling down.
More often, rain evaporates before it hits the ground. Real raindrops are shaped liked tiny
spheres. One of the wettest places in the world is located in India. Once, over 98 inches of
rain fell in two days in 1995.

Snow occurs more often than most people think, but it melts before hitting the ground.
Snow can look like thin needles, flat plates, or beautiful snowflakes. Snowflakes have
unique patterns depending on the temperature and humidity of the air. Snow must fall on
freezing ground, or it will melt on contact. If the ground is cold enough, the snow will start
to pile up. The world record for the most snow in one year is 95 feet in the Mount Baker
Ski Area in the state of Washington in the United States.

Sleet and freezing rain are very similar. They both cause surfaces to become very slick.
Freezing rain happens when rain is supercooled. The water droplets do not freeze in the
air. They freeze the instant they hit an object, such as a road. Sleet is rain that falls from
clouds but freezes before hitting the ground. Sleet is harder to predict but easier to see.

Hail is large chunks of ice that fall from large storm clouds. Hailstones are a combination
of snow and rain. They can be as small as a pea or as large as a grapefruit. The record for
the largest hailstone is 8 inches across and weighing almost 2 pounds. It fell in South
Dakota in 2010. Hail of any size can cause lots of damage to property and crops.
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1) What does the word showers mean in
the first paragraph?

A) devices that spray water
B) gatherings for celebration
C) short falls of rain

D) washing enclosures

2) Which list names kinds of frozen
precipitation?

A) snow, sleet, hail

B) rain, snow, sleet

C) freezing rain, sleet, drizzle
D) drizzle, sleet, snow

3) The purpose of this selection is mainly
to ---

A) inform the reader about the water cycle

B) explain the meaning of the saying
about April showers

C) describe the different kinds of
precipitation

D) tell readers about precipitation in
different parts of the world

4) What causes precipitation?

A) Clouds crash into each other.

B) Cloud particles become too big and
heavy to stay in the clouds.

C) The water cycle happens over and over.

D) The earth’s atmosphere expands and
contracts.

5) What is one similarity between sleet and
freezing rain?

A) Both freeze before hitting the ground.
B) Both involve chunks of ice.

C) Both are easy to predict.

D) Both cause slick surfaces.

6) What happens to snow if the ground
temperature is above freezing?

A) It will melt on contact.

B) It quickly makes the ground cold.
C) It starts to pile up.

D) It turns into hail.

7) Which country holds the record for the
most snowfall in one year?

A) India

B) South Dakota
C) United States
D) Washington

8) Based on information from the text, what
can the reader conclude about hailstones?

A) Any size can be a problem for farmers.

B) They aren’t that bad if they’re small.

C) They are always the largest in South
Dakota.

D) They only fall in the winter.

9) What is the difference between rain and
drizzle?

A) the temperature of the clouds

B) the size of the water droplets

C) the amount that hits the ground

D) the temperature of the water droplets

10) The author most likely compared
hailstones to peas and grapefruit
because ---

A) it reminds readers that farmers do not
like hailstones

B) it makes readers hungry

C) those are the crops that are damaged

D) it makes the sizes easier to visualize
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